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Установите соответствие между репликами-стимулами и ответными репликами. Выберите
один из предложенных вариантов ответа. Одна ответная реплика является лишней.
 

РЕПЛИКИ-СТИМУЛЫ   ОТВЕТНЫЕ РЕПЛИ

1  — Why don't we stop for lunch now?
2  — Is there anything you don't eat?
3  — Pizza is a healthy choice, isn't it?
4  — Do you want to come to lunch on Sunday?

 

A  — Yes, actually, I'm allergic to peanuts
B  — Well, I'm not sure. Doesn't it contain
C  — Yes, good idea. I'm all for it.
D  — Thanks, but can we make it another 
E  — That's true. But the price is importan
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